15-312: Recursive Types I. Cervesato

15-312 Lecture on
Recursive Types

Recursive Types

Give a man a fish and he will eat one day; teach a man to fish and he will
eat every day.

Recursive types can be understood in the light of this proverb. When studgidel'&

T, we introduced all the tools we need to work with natural numbers: the basic con-
structors £ ands) and the universal destructaratrec). In an homework, we saw that

lists of natural numbers and binary trees could be defined in a similar way. We could
use the same mold to define strings, lists of lists, etc. This becomes rather tedious af-
ter a while, though: we keep on defining operators that are mostly identical over and
over. Even worse, each of these types is hardwired in the language: if we have de-
signed and implemented a language with lists, adding trees amounts to designing and
implementing a new language.

Recursive types capture what all these special-purpose types have in common, and
provides a single construction to define them all: once we design a language with re-
cursive types, we automatically have a language where we can define natural numbers,
lists, trees, etc., whatever type of this sort we can think about.

A recursive type is a type whose definition refers to itself. With the exception
of pure enumeration types (e.dppol ), ML datatypes are recursive Because the
definition of a recursive type refers to itself, there are infinitely many terms of this type
(again, think about natural numbers, lists, trees, etc.).

Syntax

Types T u= t | arrow(m,72) | rec(t.T)
Expressions e := =z | lam[r](z.e) | app(ei,e2)
| fold[t.7](e) | unfold(e)

We include functions in this definition because they provide a starting point for expres-
sions (init would perform this task equally well), and also because several interesting
behaviors involve functions. They are not an essential component of recursive types,
although they make using them interesting.

IML datatypes also make use of other primitives, namely polymorphism (@.dist ) and type def-
initions (the possibility of giving a name to a type, in the same walggs allows us to give a name to an
expression).
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Recursive types introduce a notiontgpe variable writtent above. The recursive
typerec(t.7) bindst within the typer, which could now refer to.

Intuition
Consider the following ML definition for lists of natural numbers:
datatype natList = Nil | Cons of int * natList

Intuitively, a list of integers such &ons(3,Cons(2,Cons(1,Nil))) has two
types: if we consider it as a whole, it is an expression of typikist ; if look more
closely, itis a pair consisting of the integ&(the head of the list) and the list of integers

Cons(2,Cons(1,Nil)) (its tail). The job offold andunfold is to mediate these
two types:

’Cons(3,Cons(2,Cons(l,Nil)))‘ : natList

unfold fold

Cons (,

Every time we build a list from a head and a tail, we are implicitly doifiggdoperation

to convert the two parts into a list. Similarly, every time we look at what is inside a list,

by means of pattern matching or a case construct, we are unfolding it into its definition.
We will now see what this means formally.

Cons(Q,Cons(l,Nil))‘) : int * natList

Typing Semantics

Because recursive types rely on binders, it is worth using a judgment to formalize when
they are well formed. This judgmentis - ¢ type, with A a set of hypotheses of the
formt; type,...,t, type. Itis defined as follows:

tp-id

A, t type - t type
AF 71 type A 7 type A, ttype F 7 type
tp-arrow tp-rec

A F arrow(71, T2) type A & rec(t.T) type

The typing judgment for expressions assumes the farii - ¢ : 7, whereA is a
typing context for type variables afidis a typing context for expression names. The
typing rules for expressions is as follows. The rules for functions are as usual, with the
addition of the typing contexA which plays no role in them.

A ttypet Ttype A;TF [rec(t.T)/tle : [rec(t.7)/t]T
A;T F fold[t.r](e) : rec(t.7)
A;TFe:rec(t.r)
A; T unfold(e) : [rec(t.T)/t]T

tp_fold

tp_unfold
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Note that a bottom up typechecker recovers the typeasfd can use it to compute the
type ofunfold(e). This is the reason whynfold does not need to be annotated with a

type.

Transition Semantics

fold is the constructor of expressions of a recursive type and therefore form the basis
for values of this typeunfold is the destructor and the two annihilate each other when

they meet.
v val

——————valfold
fold[t.7](v) val

e e e e
step_fold step_unfold

fold[t.7](e) — fold[t.T](e") unfold(e) — unfold(e’)

v val
unfold(fold[t.7](v)) — v

step_unfold_fold

Type Safety Theorem

The type safety results are as usual and they are proved using the techniques we have
seen.

1. Type Preservation If 7 :: T'Fe:7and€ ::e— e, then7’ =T+ €' : 7.

2. Progress If T :: - e: 7,theneithel :: e valorS :: e — €.

Deconstructing ML Datatypes

Consider again the above ML definition for lists of natural numbers:
datatype natList = Nil | Cons of int * natList

This definition provides us with a typadtList ), two constructorsNil andCons),
and a destructor (in ML it is the case statement

case e of Nil => epy | Cons(n,l) => €Cons

but this is really just the iteratdistrec(e, enii, n.l.econs))-

Let's see what is going on under the hood now that we know about recursive types.
First of all, let's model the typeatList itself. We are going to have a variant record
containing one of two things: something that we will understardibsand something
else that will stand fo€ons:

e Nil by itself is just a marker, an entity that carries no other information besides
the fact that it is there. This suggests usindt, the nullary product type, to
represent it.
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e Cons is a pair consisting of a number and a recursive element ofritgfast

We will use the namesil andcons as labels in a labeled variant (to distinguish them
from the constructors, we use all-lowercase words). Then, in the concrete syntax,
natList is defined as

p natList.[nil : unit; cons : int X natList]
If we want to use the abstract syntax, we have instead
rec(natList.var|nil, cons|(unit, prod(unit, natList)))

Note thatnatList is just a bound name here (we could have usgf- making it
available as a name in a program requires other linguistic features, type definitions. We
will abbreviate either of these two type expressionsmasliist” (including the quotes).

In particular, when we writerfatList” in an expression, we mean the above recursive
type, not the type variable.

Let's now define the operations that have to do wittiList , namely the con-
structorsNil andCons and an example of thease statement. To make things more
readable, we will write the types appearing in an expressionin We start with the
constructordNil andCons.

e How do we build an empty list? Well, there is only one object of type, that
is (). Next we need to package it as thi¢-labeled entry of a variant of type
[nil : unit; cons : int x “natList”], that is

[nil = ()]
and finally we fold it into an object of typenatList™:

fold
([nil = ()] )

Let us rewrite this using the abstract syntax:

fold
(inj (unit))

e Cons is defined exactly in the same way, except that we need to pass it two
arguments: the natural number and the list that we want to cons together. The
concrete syntax is

n Al fold
([cons = (n,1)] )

and the abstract syntax is

lam int/(n.
lam (.
fold

(inj (pair(n,1)))))

February 10, 2008 4



15-312: Recursive Types I. Cervesato

o We are left with thecase statement. We will not be able to defitistrec until
we study polymorphism. Instead, we will look at a sample instance.

As an example, let’s define the functibead (a destructor), which returns the
element at the head of a list of integéren ML.:

case [ of Nil => 0 | Cons(n,|l) => n
where we are returnin@if the list is empty (we will take more interesting actions
once we work with languages with exceptions).

By definition,! will be given to us as an expression of typatList”. Therefore,
we need to unfold it to access the inner variant and then discriminate on the tag.
The overall code is as follows:

Al .case (unfold )
of nil=(] => 0
| [cons=p] => fst(p)

The corresponding abstract syntax is

lam (.

case (unfold I,
.0,
p-fst(p))

Other typical functions on lists, for example tteél function, or the function that
checks whether a list is empty, are defined similarly.

Recursive Functions Revisited

For a moment, let's step to an untyped functional language, the simplest of them all,
containing only functions and applications:

Untyped expressions e == =z | Az.e | e1 e

For convenience, we are showing only the concrete syntax. Note that there is no type
decoration for\. Assume a call-by-name semantics for this language.
Now, consider the expressidndefined as follows:

Y = M. (Az. f(zz)) M. f (zx))

(This weird expression goes by the nameall-by-namey” combinatory: Call Y’ the
subexpression bound byf so thatY” = Af.Y’. Now, let’s partially evaluate starting

2There is also a slightly more complicateall-by-valueY” combinator — see Pierce’s book.
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it from a function\g. e, wheree is any expression, possibly containigg

Y (A\g.0) = O (. f (w2) (e f (22))) (Ag-e)

v
—  (Az.(Ag.e) (xx)) (A\z. (Ag.€) (z z))
[Ag.e/flY"
= (Ag-e) (Az. (Ag-e) (xx)) (Az. (Ag-€) (x x))))
Ag-e/flY"
= [z (Ag-e) (z 2)) (Az. (Ag-e) (z x)) /gle
[Ag.e/f1Y’

We get therefore that

PAg.e/ IV =" [Ag-e/fIY/gle
If we define the function recursbfix(g.¢) to be[\g. e/ f]Y’, this corresponds to the
familiar step in the semantics @k: i.e.,fix(g.e) — [fix(g.e)/gle.

With Y’ in hand, there is no need to have an explicit recursion operator since it
behaves in the desired way. The problem is #iaaind therefor&™, is not typable in
a functional language without recursive tygegry it!

Recursive types change this picture dramatically. Consider the function recursor
fix[7](g.e) for a specific type- (again, we haven't yet examined polymorphism). Then,
we can give a type to the thé combinator that operates on functions of type 7' —

7/ (which is also the type of the bound varialgle Call it Y :

Y. = AN :T—>T Az : pt.t — 7. f ((unfold z) z))
(fold[ut.t — 7](Az : pt.t — 7. f ((unfold ) z)))

Let’s check if the types work:

(pt.t—7)—71

T

T

(pt.t—7)—1 ittt

Mmoo Az : pt.t — 7. f ((unfold x) ?))
(fold[ut.t — 7] (A\z : pt.t — 7. f ((unfold z) x)))

(pt.t—7)—7 (See above)

pt.t—1

Now, by applying the right part of the top line to the second, we obtain a term of type
7. Finally, by abstracting ovef, we obtain(t — 7) — 7.
The type of our makeshift recursor would thene

3In earlier lectures, we wrote this operatorres. We now switch tofix to avoid confusion with the
recursive type constructor.

4In general, there is no simple typesuch that(z ) : 7
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Objects Revisited

When talking about product types, we saw that objects are a form of recursive prod-
uct: a standard record was extended with one extra binder in each field which stood
for the entire object. Now that we have recursive types, we do not need this special
construction. We can instead assemble an object directly from product typesessing

Consider as an example the counter object adapted from Pierce’s book: this counter
contains one fieldyal, corresponding to the value of the counter itself, and two meth-
ods,inc anddec, to increment and decrement it, respectively. The type of this counter
object is given by the following recursive type:

puC.{val :int, inc:unit — C, dec: unit — C}

Let’s refer to this type ascounter” (again with quotes). Given an objectof type
“counter”, we obtain its value by unfolding it to a record and then projecting on the
labelval:

prj[val](unfold(c))

To increment the counter, we similarly project on labed and apply the resulting
function to the unit value:

(prj[inc](unfold(c))) ()

The value returned by this application is a new counter.

How do we create an object? We will define a functiew that when applied to
some number creates an object with initial value af It is easiest to start with an
ML-like concrete syntax extended with labeled records:

fun new(n: int) =

(val = n,
inc = \u .new(n + 1),
dec = \u .new(n — 1))

The corresponding concrete syntax is as follows:

fix (new.
lam int (n.{val = z,
inc = lam (new (n + 1))

dec = lam (new (n —1))}))

Note that all recursion is encapsulated in the uskéxof
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